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	Which is not deflected by magnetic field – werwe
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	 \[\begin{align}
  & {{N}_{2}}{{O}_{5}}(g)\to N{{O}_{2}}(g)+N{{O}_{3}}(g)\begin{matrix}
   {} & {}  \\
\end{matrix}slow \\ 
 & N{{O}_{3}}(g)\to {{O}_{2}}(g)+NO(g)\begin{matrix}
   {} & {}  \\
\end{matrix}fast \\ 
 & NO(g)+{{N}_{2}}{{O}_{5}}(g)\to 3N{{O}_{2}}(g)\begin{matrix}
   {} & {}  \\
\end{matrix}fast \\ 
\end{align}\]
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	Neutron
\[\begin{align}
  & {{N}_{2}}{{O}_{5}}(g)\to N{{O}_{2}}(g)+N{{O}_{3}}(g)\begin{matrix}
   {} & {}  \\
\end{matrix}slow \\ 
 & N{{O}_{3}}(g)\to {{O}_{2}}(g)+NO(g)\begin{matrix}
   {} & {}  \\
\end{matrix}fast \\ 
 & NO(g)+{{N}_{2}}{{O}_{5}}(g)\to 3N{{O}_{2}}(g)\begin{matrix}
   {} & {}  \\
\end{matrix}fast \\ 
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	Neutron is charge less entity 
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	Which of the following compounds are amphoteric in nature
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	Al2O3\text{Al}_2\text{O}_3Al2​O3​
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	Both Al2O3\text{Al}_2\text{O}_3Al2​O3​ and ZnO\text{ZnO}ZnO react with acids and bases, making them amphoteric
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